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Lösungen:

Buchstabensalat:

RNSTKVGKPUNDLSPJGEKD
SQRPIROUETTEULOPCNRE
PLATOEUBYFOKRORSEKUT
DARILCHPIKSASPESADBT
FNSELOIRPAKREKAPRIEE
GCESTZRAVALOTLTISKTB
SAPIATFEDGDHTPIAFFER
EDSVHGPESADEEGSORTEU
YESADGEHJUOPNETHEILK

Sudoku:

Gehirnjogging:

X

SCHANZEFAELLENX
EHXLEDIGXRHXAUGE
XWELIXCXXZEBUXEN
BAISCHWEINXBALD
XEXAUASSXEEE
X
X
R

C
H
E

A
A
S

R
ASXHXWELPER
XTANNENXERBS

ITASXSMSXNUN

E

SXXGXTXNZXXHEX

FASCHINGSUMZUG

20 + 43 = 63

WALTRAUD, ROMAN, GUSTAV, 
OLIVER, KAROLA, WOLFGANG

C fehlt (dem Alphabet nach werden
immer zwei Buchstaben ausgelassen).


